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1(0048965)

An aircraft should not be refueled when (A) the APU is running.
( B) navigation and landing light in operation. (C) within 10 meters
(30 feet) of radar operating.
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2(0021540)

Additives that speed up a paint's cure time are referred toas (A)
hardeners. (B) retarders. (C) lacquer.
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3(0021610)

What is the torque value of a nut to use a 6 in torque wrench setting
150 in-lIb with a 3 in extension bar (A) 205in-Ib (B) 215in-Ib
(C) 225in-Ib
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4(0029025)

What type of meter is used for measuring very high values of
resistance ? (A) Mega-ohmmeter. (B) Shunt-type ohmmeter.
(C) Multimeter.
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5(0021490)

The Air Transport Association of America (ATA) Specification
No0.100 (1) establishes a standard for the presentation of technical data
in maintenance manuals. (2) divides the air craft into numbered
systems and subsystems in order to simplify locating maintenance
instructions. Regarding the above statements, (A ) neither No.1 nor
No.2 is true. (B) both No.1 and No.2 are true. (C) only No.1 is
true.
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6(0048996)

The width of a visible outline on a drawing is .(A) 0.3 mm (B)
0.7 mm (C) 0.5 mm
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7(0021687)

A drawing in which all of the parts are brought together as an assembly
is called (A) a sectional drawing. (B) a detail drawing. (D) an
installation drawing.
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8(0021686)

What is the allowable manufacturing tolerance for a bushing where the
outside dimensions shown on the blueprint are: 1.0625 + 0.0025 -
0.0003 ? (A) 0.0028 (B) 1.0650 (C) 1.0647
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9(0048997)

What does GA stand for on a drawing? (A) General Assembly. (B)
General Arrangement. (C) Gradient Axis.
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10(0049000)

What is the maximum bow allowed in a strut? (A) 1 in 200. (B) 1 in
500. (C) 1 in 600.
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11(0029018)

Which is the process of obtaining the necessary electrical conductivity
between the component metallic parts of the aircraft? (A) grounding
test (B) insulation test (C) bonding test
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12(0049026)

A repair has a double riveted joint. The shear strength would be :
(A) 125%. (B) 75%. (C) 100%.
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13(0021553)

The minimum acceptable dimensions, where D equals the diameter of




the rivet shank, for a formed end of a rivet are (A) height 0.65D, width
1.0D. (B) height 0.5D, width 1.5D.(C) height 0.65D, width 1.5D.
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14(0021595)

A scratch or nick in aluminum alloy tubing can be repaired by
burnishing, provided the scratch or nick does not ~ (A) appear in the
heel of a bend in the tube.  (B) exceed 5 percent of the tube
diameter.  (C) exceed 10 percent of the tube diameter.
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15(0021597)

What is the complete designation for an aluminum nut for a flared
fitting that will fita 5/8 inch OD line? (A) AN818D5 (B)
AN818 D 10 (C) AN818D 16
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16(0056076)

What is the length of a spring if NOT under load? (A) free length (B)
block length (C) wire length
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17(0049053)

Thrust bearings transmit (A) thrust loads, thus limiting axial
movement. (B) radial loads, thus limiting axial movement. (C) thrust
loads, thus limiting radial movement.
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18(0049066)

Backlash is a type of wear associated with (A) gears. (B) rivets. (C)
bearings.
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19(0021560)

On large aircraft, the of the immediate area should be taken into
consideration when using a tension meter?
(A) Temperature. (B) Moisture. (C) Altitude.
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20(0049094)

The sharpest bend that can be placed in a piece of metal without
critically weakening the part is called the (A) maximum radius of bend.
(B) minimum radius of bend. (C) bend allowance.
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21(0048985)

When using a megger to test insulation resistance, capacitive filters
should be disconnected for what reason? (A) Remove the risk of
damage to the megger. (B) Remove the spurious readings caused by
the capacitors charging and discharging. (C) Prevent damage to the
filters.
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22(0021582)

What type of diagram is used to explain a principle of operation, rather
than show the parts as they actually appear? (A) A block diagram. (B)
A pictorial diagram. (D) A system schematic diagram.
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23(0021581)

A line used to show an edge that is not visible is a (A) phantom line.
(B) break line. (C) hidden line.
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24(0049006)

If there is a positive allowance between the smallest possible hole and
the largest possible shaft, the fit is known as (A) a transition fit. (B) a
clearance fit. (C) an interference fit.
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25(0049005)

The length of a blended repair of corrosion should be no less than (A)
10 times its depth. (B) 20 times its depth. (C) 5 times its depth.
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26(0021529)

When coaxial cable is installed, it should be secured firmly along its
entire length ... (A) at 1-ft intervals. (B) wherever the cable sags. (C)
at 2-ft intervals.
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27(0021598)

Many hoses are made of TFE or Teflon and may be used for
practically all __? encountered on an airplane. (A) fuel (B) hydraulic
fluid (C) fluids
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28(0056079)

What are the coils in a coil spring that move or deflect under a load?
(A) coil surge (B) end coils (C) active coils
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29(0049043)

A tapered roller bearing is designed to take (A) radial loads only. (B)
both radial and axial loads. (C) axial loads only.
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30(0049065)

Control chains should be fitted in an aircraft (A) with the minimum of
slack in the chain. (B) so that the chain can be removed easily. (C) with
as much slack as possible to allow for contraction.
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31(0021558)

The completed terminal sleeves should be checked periodically with
the proper gauge called (A) Go-no-go gauge. (B) Surface gage. (C)
Depth gage.
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32(0049085)

The skin on an aircraft is normally manufactured from (A) 2024
aluminum alloy. (B) 7075 aluminum alloy. (C) 2117 aluminum alloy.
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33(0021678)

In bending, the neutral axis is (A) a line created by the points where
the compressive load of the bend equals the tension load. (B) specified
on the inside radius on modem aircraft drawings. (C) the same as the
setback.
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34(0027982)

The approved maintenance organization must retain maintenance
records and associated maintenance data to aircraft and aircraft
component for at least (A) 1 year. (B) 2 years. (C) 5 years.
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35(0028082)

Page Blocks are used in the Maintenance Manual to enable the user to
locate the desired information more rapidly. Information for Removal
and Installation can be found in page... (A) 201 to 300. (B) 301 to 400.
(C) 401 to 500.
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36(0048990)

A pressure gauge is fitted to a Dead Weight Tester. The piston area is
0.25 sq.in. and the total mass of the mass carrier and masses is 5 LB. If
the pressure gauge is accurate, what pressure in pounds per square inch
(PSI) will it read? (A) 1.25 psi. (B) 20 psi. (C) 200 psi.
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37(0021491)

Which statement relating to electrical wiring is true? (A) When
attaching a terminal to the end of an electric cable, it should be
determined that the strength of the cable to terminal joint is at least
twice the tensile strength of the cable. (B) When attaching a terminal to
the end of an electric cable, it should be determined that the strength of
the cable to terminal joint is at least equal to the tensile strength of the
cable itself. (C) All electric cable splices should be covered with soft
insulating tubing (spaghetti) for mechanical protection against external




abrasion.
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38(0021596)

What is the complete designation for a 90" elbow to join two flared 3/8
in OD tubes? (A) AN821-3 (B) AN821-6 (C) AN821-9
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39(0049052)

After cleaning a bearing, it should be (A) left in free air to dry
naturally. (B) dried with clean, warm, dry compressed air. (C) dried
with lint free rags.
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40(0049077)

How do you check a chain for elongation? (A) Hang chain up, check
sight line and measure. (B) Adjust the end fittings. (C) Lay flaton a
table, apply tensile load and measure.
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41(0021641)

The angle of pulley and pulley alignment line should not over (A) 1
degree. (B) 2 degree. (C) 3 degree.
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42(0021566)

What is used to protect a cable routed through a small bulkhead hole?
(A) seal (B) grommet (C) compound
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43(0021574)

When drilling stainless steel, the drill used should have an included
angle of (A) 90 degree and turn at a low speed. (B) 90 degree and turn
at a high speed. (C) 140 degree and turn at a low speed.
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44(0049101)

Prior to aluminum alloy bonding we use (A) alkaline etch. (B) acid
etch. (C) solvent wipe.
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45(0049097)

A mechanlc has completed a bonded honeycomb repair using the
potted compound repair technique. What non-destructive testing
method is used to determine the soundness of the repair after the repair
has cured? (A) Eddy current test. (B) Metallic ring test. (C) Ultrasonic
test.

FRRE RIOE LB RBIITR SR AN RS > P A
FeZL R A 2 AT R 2 (A)ERRE B & PR E
Fplzd (C)des wipl#

46(0021591)

When towing an aircraft, (A) all nosewheel aircraft must be towed
backwards. (B) if the aircraft has a steerable nose wheel, the locking
scissors should be set to full swivel. (C) all struts should be fully
deflated.
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47(0027977)

The aircraft is airworthy as: (1) Parts and materials come from any
organization. (2) All the scheduled maintenance tasks are done in
schedule. (3) the aircraft is confirmed

to conform the Type Certificate. (A) Only (1) and (2) are required. (B)
Only (1) and (3) are required. (C) Only (2) and (3) are required.
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48(0048991)

When testing a fuel metering unit, how is it checked? (A) With the
meter in series with the unit. (B) With the unit disconnected. (C) With
the meter in parallel with the unit.
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49(0021651)

Use the triangular files are limited to internal angles less than (A) 120




degree. (B) 100 degree. (C) 90 degree.
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50(0021638)

2 micron meters is (A) 0.002 ". (B) 0.002 mm. (C) 0.0002 ".

2 Hst (micron meters) %+ (A) 0.002 +4 (B)0.002 =% (C)
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